
Calculus  I

  
  
  Justify all answers by showing your work or by providing a coherent explanation.  Please circle your 

answers.
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  2.  Find the slope of the tangent line to f (x) = tan x + 2cos x at x  =  π .

 

 3.  The position of an object is given by s(t) =   π cos x
1 − cos x

.  Determine all the points where the object is not 

moving on the interval 0, 2π( ) .

  4.  Find the equation of the tangent line to f (x) = 2 x  +  2ex  at  x = 0 .

  5.   a)  Find lim
x  →  0

e2x  − 1
ex  −  1

.     (Remember e2x  = ex ⋅ ex )

        b)   Find  d2

dx2
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ex ln x( ) =  .
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